Math 135 — Practice Test 1

Practice Test Name: Soluhen St
Instructor: Patricia Wrean

No calculators are allowed for this test. Total: 30 points

Part I: For these short-answer questions, you do not need to show any work. Place your
final answer in the space provided. Each answer is worth one point.

b)
1. (1 point) Simplify % /a
8 L2 3
1) /Q; Y 2
32 L{ ""l/
2. (1 point) Write — asa mixed number. 7
“l
7V 3a
Y
Y !&/
3. (1 point) Write 48% as a fraction. Simplify your answer. )
g - uy A1 12
100 ¥ 2SS S
4. (2 points) Add, subtract, or multiply, as indicated. Simplify when possible. Y
I T Aa
12 12 12 - I
(b)lx?) < —2‘*"—3{:2 7/0»
18 6* % | b
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Part II: For these questions, show your work and write your final answer in the space

provided.
5. (2 points) Simplify the following fraction. 12
144 52
84
Shotd  rsica J(mj vergien
N S AR P Yy %0 636 a2 3
¥4 X 7 ] 2y X492 w2l '%:3'175

6. (8 points) Add, subtract, or multiply as indicated. Simplify when possible.

Lln
Cco (@3%-1% . % —‘—(‘a o G
= 30
- (o 1\ )

%<Z> = Z) (or} e UTL«,?S}/)

35U
5% _ss .
30 30 50
1.5 1 /3 S /3 !%/,1 @
(b) —+— - < + =
21 ' 14 W\ (4 \>
Lep:
21 = 3%/ ‘ = __9‘_ =+ __}_S_
\H::—Y_) %D ‘1-‘3
So LeD-2¥3 x/ - D
Y 4
S‘-‘-
(c) b8 BxS 4 . S A) @
24 9 ’;ﬁ/y 9 g
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7. (2 points) Multiply or divide as indicated. Simplify when possible. 9
22 .6 S I O U 48
i L “3
8. (2 points) What is 35% of 427 9.7
“4a
03 .
.23 @ i ncgrect
a " O a{’_c ulml
12 b (
147 0 frese

9. (5 points) Add, subtract, multiply, or divide as indicated. Leave your answer in decimal
form. Do not round your answer.

(a) 72.36 + 108.88 IF1.3Y
108. &§
4+ 7330
1§ 1.0y
(b) 14484 +0.34 = 14484 /ioo\ . 1445y 9.6
0.4 \Co 3y
4.4 6
34) 194.84 Ci)  incorrdr
156 hacomal  plecs
33
6%
04
204

(]
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10. (2 points) Sara must find the area of her flower garden so that she can determine how
much fertilizer to purchase. What is the area of her rectangular garden, which measures

1
15 feet long and 10— feet wide? Write a concluding sentence for your answer.

1S x 106 : 1S xSL . 3.5 s3
[ S | jod
The oarcea of Saras 5arck.an s 18 squaa Leat

T

@ £ no units

1
11. (4 points) Morgan has 195 metres of fleece material. For the questions below, write a
concluding sentence for your answer.
5
(a) A fleece pullover requires 1= metres of material. How many fleece pullovers can

Morgan make from the material he has?
94 =~ (% - 31. 13 ;.lix,&:;@§éy‘bﬁ/z{a
> g 2 13 & ey

(V\O\rjc\/\ Ca.n\ V"\C\k—ﬂ. {a —C]-Q_Q_C_p_ (JI\WS_

(b) If the material is $12.50 per metre, how much did Morgan have to pay for the fleece

material?

9% »13.S - [9.5~12.S

9 S o . AL VAN
125 (V\Of"j el ()c\ A #'
97 < T
370 A ;
EXS g) # o vk
2937S

%@zaHS%

" ) v . 397 235
w\d\'""fij fﬁéﬂ;a S <5
= A43 /¢

- nod co\d\  also



